
 

 

Answer on Question #66893-Physics-Mechanics-Relativity 

A balloon is rising at a constant velocity of 3m/s. While the balloon is rising, something falls off. It takes 3s 

to hit the ground. What is the velocity when they hit the ground? How high was the balloon? 

Solution 

The initial velocity of the something is 3 m/s. 

𝑣𝑓𝑖𝑛𝑎𝑙 = 𝑣0 − 𝑔𝑡 = 3 − 10(3) = −27
𝑚

𝑠
. 

The negative sign means that it falls downwards. 

ℎ𝑓𝑖𝑛𝑎𝑙 = ℎ0 + 𝑣0𝑡 −
𝑔𝑡2

2
= 0 

ℎ0 =
𝑔𝑡2

2
− 𝑣0𝑡 =

10(3)2

2
− (3)(3) = 36 𝑚. 

Answer: −𝟐𝟕
𝒎

𝒔
; 𝟑𝟔 𝒎. 
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